Signature and Name of Invigilator

1.

2.

[3]47

Time : 2Y2 hours]

(Signature)
(Name)
(Signature)
(Name)

1|5

PAPER - I1I
PHYSICAL EDUCATION

www.a2zSubjects.com

OMBR SheetNO. : .........ovieemiericcrireircreniressenenneanes
To be filled by the Candidate)

Roll No.

(In figures as per admission card
Roll No.

(In words)

[Maximum Marks : 150

Number of Pages in this Booklet : 48

Number of Questions in this Booklet : 75

N o

10.
11.
12.
13.

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of seventy five multiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: M) @ @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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e % o e

U Y & S F9q T | 3T I TR fafa |
T J¥A-T9 § JoEw agfashedd U9 § |
T TRES B R, JIA-YRehT TRl < < SR | Uee i fae
AMTHT FH-YReT WieH qe 8! Fefafaa e % fau i
ST, fSreRT i SThT 3Tavd AT ¢ :
() Te-gfE Gier & fau i | ol wrS ®t 'a @l
RIS T | Gl g8 A1 fo1 Rie-Hid &1 giedet @iar 7w
e’ U8 W BY FEITTER U9a-Ufeaent & U5 a1 Y91 sl
AT T 3Dt AE ok I ot foh A YW E | ool gfeent
it gg/woet T B AT gANT o T B ar wiae # 7 8
starfa foret oft werm =t Ffequt qiaent w@ier T &t aen
I TUT IH AT I T W gH el qvT-gfiaent o
o He ferT et uiw firee fod st Sees e A ar
TR WIT-YReehT aTud ot STat 3T 1 & smuent ifafies
wa fear s
(iii) 39 SIT9 & o1& J¥I-IREeRT A1 FoR OMR T T 3ifehd

3T OMR T3 T oR 39 Je-Tfedeht R iferd w2 T |
&% I & faw IR 3| faswey (1), (2), 3) 7 (4) fF ™ 7
SIS TET ST % g9 1 U7 ¥ TFR el w1 § 541 fo =9
fe@mn T )
T[ET: D Q@ @ @ i (3) Wl IW LN
T % I kA U9 YREAehT o 3TeY fed T OMR U5k W&
3ifehd & T 1 Afg 3T OMR 9% W g8 T g & s1erman forst
T I T S Fawsifehd &Yd €, A1 SHeRT Jedishd Tal o |
< fq M FAdeil =l A W6 |
%=l %M (Rough Work) 36 f&dehl & 31f<d g8 T & |
Ff¢ 39 OMR T9& T 79d T & STamdn 37991 M, T T8,
T TR A1 e o T g fSE et Te=e € O, sifed
g SIgar 19 9T T WAN H T, A RE T A WA
AN X4 ¥, 9 o oifRd fRd T S A faem 1 ke @ @
e A1 WieT % Tl sl wifvd fRd s g €
STTTeRT TIET H9H 81 T I OMR & 1% 7RIed &l @ler
AT © SR TeT FHIfH % oG 36 ST Wil e wad § el
T TR S | BTeAieh 319 UiaT FHIH R g Te-giaent a9 OMR
T HY GATHE T ST 1 & S HAd |
Had Het/HTA AT WIEE U hT & IEHTA i |
foret off YRR T EMUTE (FAFAET ) qT A SR 3G BT
v At ¥
TeAd SRl o fIT hTE TR 3ieh <&
Ffe Uit =1 fedt foexor 9 =g forwmifa @1, a1 sfusit foawon sifq
T ST |
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PHYSICAL EDUCATION
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Corporate Houses are being attracted towards sports these days due to :

(I) More number of Tournaments  (2) Media Publicity

(3) Growth of sports Industries (4) High Stake on Athletes
2.  In which standard the teacher would know that a student had met an acceptable level of
performance ?
(1) Norm Referenced (2) Criterion Referenced
(3)  Subjective (4) Both (1) and (2)

3. If Mean=25.45, Median=29.45 and o=>5 then skewness of data will be :

(1 -—-4.2 (2) 4.2 3) 24 4) -24
4.  Feedback on performance is specially important to :

(1) increase competitive ability (2) setting a personal best goal

(3) discourage poor performance (4) improve a technique
5.  Name the psychologist who defined stimulus in terms of physical energy such as sound, light

etc :

(1) Throndike (2) Kohler (3) Skinner (4) Hull
6.  The functionally active form of Vitamin D is :

(1) Cholecalciferol (2)  Ergocalciferol

(3)  Dehydrocalciferol (4) 1, 2, 5 Dihydroxycholecalciferol
7.  Internship programme of teacher education provides :

(1) Content Courses (2) Practical Courses

(3) Complete School Environment (4) Research Courses

o-o7s [ IEAIN N
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MIRIECR )
qoa=A - 111

e : 39 TTE H UeET (75) 9g-fased ™ 7ee €1 U U % o1 (2) S § 1 |t uee erfard §

1. ffafea § @ fas &R 37 i wuike sRH Ud-%8 & AR TFE e ® e 7
(1) A &1 At qem (2) Hifea =R
(3) WA-F3 AN A foskrH (4) UTeltel W wga Afuk e

2. fow greve ¥ foees a8 w9 oar © o faenet 3 wied w) ura & faan g2
(1) = a4 (2) HErE deH
(3) o (4) (1) ¥R (2) g

3.  Afg AIeA=2545, HIfeAR=29.45 3R ¢ =5 T 3Tikel HT AT FT BT 2
1) —42 2) 4.2 (B) 2.4 4) -—24

4. fyoaed (veei) =1 wfigfie forim w9 @ fefafea § 9 frae faw wgegel 82
(1) Sfaeast s agr (2) SR o8 A& FuRT &wH
(3) Efed UeeA I gardIed 31 8q (4) R GETRA 79

5. S UAEHIR &1 AW 9ag e 3 w1 afaren difas Set S et g senfe & gfe @ &t
7

(1) orierEs (2) R (3) = 4) =

6. o €t %1 Faicrs 9 4 959 ®9 ¢

(1) SIS EHI () iR
(@) feemgmRifcahid (4) 1,2, 5 THRISHIHIcIh eI
7. AT fIeT0r 1 AT HREIEHH STCTs HIAT |
(1) fowres deusH (2) EIfTE ST
3) ot feramer af@w (4) WY USTHA
o-s7s || IIIEANNS ;
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8.  The rival factors which threat the internal validity of a research problem is :
(1) Independent variables (2) Internal threat
(3)  Extraneous variable (4) Confounding

9.  Baroreceptores are activated/stimulated when :
(1) Blood pressure is too high (2) Blood flow in the muscle is low

(3) Blood flow in the brain is low (4) Blood flow in the heart is low
10. The five interlinked rings of five different colours of the Olympic Flag reflect :
(1)  Unity of the world (2) Brotherhood of man kind

(3) International relations (4) Globalisation

11. Find the correct combination of the steps in planning supervisory programme :

(a) Evaluation of educational product

(b) Development of programme of action

() Concerned with attributes

(d) Analysis and appraisal of the teaching situations

Codes :

12. Validity is established by :
(a) Subjective ratings
(b) Composite scores
(c) Parallel forms
(d) Empirical judgement
Select the correct answer :

(@), (b), (¢) 2) (@) () (d) 3) @ (© @ 4)  (b), (c), (d)
[

) (
o-7s {11
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8. Yfdgdl TReh ST INY GHEAT i AL d&dl & faw @au ¢ :
(1) %@dd =R (2) AR G
(3) wfE = (4) o=

9. Hiwed 39 ww fRamier/ el 2 § 519 ¢
(1) T5A-T9E Sgd A Bl 7 | (2) e ¥ o yoTE FH AR
(3) ufes H o ¥aTE FH BT T (4) % H o YA HH B ¢ |

10. ST s & U STeT-3Ter T & T gl ¥ 98 gu ' fon’ <oia €
(1) fowa =1 T (2) Al T HEAR
(3) T Ay (4) YHSAR

11. YHALIUT FHTAHH i TS I9H S FHSH o Fe&l AT T TdT e
(a) eIfoTR IS T HeARA

(b) Toren wedsRe w1 o

(c) U § Hafya

(d) e Rfefaai @ favero SR qeaiwd

%

1) (), (9, (d) 2)  (a), (b), (d) G)  (a), (d) (o) 4) (@), (b), (9

12.  Syar fhae gy wefia 2t § 2
(a) fawaRE Joferg
(b) @iy 3w
() THHRR &9
(d) emgufes foia
WE 3T AT 991 HY
1) (@), (b), (c) 2) (@), (b), (d) 3) (@, (©, 4)  (®), (9) (d)

o-o7s [ FHINE A
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13. In the two-way ANOVA, with A and B as the independent variables, if the F ratio computed
as MS, , g/ MSy is significant, it can be concluded that :

(a) Main effect of A is significant
(b) Main effect of B is significant

(c) Interaction effect is significant

Codes :
(1) (c) only (2) (a) and (b) only
(3) (b) and (c) only (4) (a), (b) and (c)

14. Uniformity in teaching a skill includes the following. Find the correct answer using the
codes given below :

(a) Teaching on the basis of uniform plans

(b) Different load parameters to different trainees

(c) Evaluation according to uniform norms

(d) Teaching with the aim of uniform progress for all
(e) Individual corrections

(f) Individual guidance and help

Codes :

1) (), @) () (2) (@, (d) (e) (3) (@ () () 4 () (o) @

15. Germination enhances following nutrients :
(a) Vitamin B
(b) Vitamin C
(c) Protein
(d) Carbohydrates

Codes :
(1) (@), (b), (c) and (d) are correct (2) (a) and (b) are correct
(3) (c) and (d) are correct (4) only (b) is correct

16. The curriculum provides the experiences for developing affective domain of value development
for learner.

(a) Feelings and beliefs (b)  Self confidence and capacity
(c) Attitude and values (d) Skills and objectivity

Codes :

(1) (a) and (b) (2)  (c) and (d)

(3) (a) and (c

(©
o-o7s [ IEAIN N
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13. -9 37 § for|d A TR B 4™ =R § 4G F 10 &1 TFIMS , |, p/MSy, & &9 § &} 91t § S
o Hew@qut € a1 98 freed feren s wehat © T
(a) A T I9E T S|
(b) B H&I JUE HEEqUl B |
(c) TRENH FUTE Hequl ¢ |
e :
(1) 99 (o) (2) FA (a) N (b)
(3) F (b) ¥R (o) @ (@), (b) ¥ (o)
14. et Fwa = faam § gaega § fafafed wiva §1 feafafed e w1 @ w3 g ad@ s®
T :
(a) THTAN ©@H % STIR e
(b) fafis gfvreronfefai o faQ sTem- o1 Arcs
(c) THYAM Al % TR HediH
(d) Gt & fore TwgaE yafa & 3299 9 foamm
(e) SATKITd YR
() AferTa ArTeeE SR TR
e :
1) (b), (), (a) 2) (), (d), (¢) 3) (@) (e) (d) 4)  (d), (e) ()
15. g0 § frefafed dve gl o gfg 2t -
(a) foerfia st
(b) foerfua €
(c) A
(d) FEEEgE
< :
(1) (@) (b), () ¥ (d) T T () (a) R (b) T T
3) (c) ¥R (d) W& 2 (4) fak (b) W 71
16. UeusH, feneff % fau qea-fowma o1 gureh &= (S9) fowfad w3 TG 9 I &1 ¢
(a) Y T favamd (b)  SATCHIIYTY Tl &Hdl
(c) iyl wd g (d) T T TS
< :
(1)  (a) 3 (b) (2) () ¥R (d)
(3) (a) 3 (o) (4)  (b) 3 (o)
o-ns [ IHEHANANI 7
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17. Purpose of systemic circulation is :
(a) Supply of O, and nutrients to all parts of the body.
(b)  Purification of blood.
(c) Bringing CO, and wastages from all parts of the body.
(d) Removal of urine from blood.
Codes :
1) @and®) () @and© () Mand(@ @4 (o) and (d)

18. The Terminal velocity of an object depends on :

(a) Mass

(b) Shape

(c) Gravity

(d) Volume

Codes :

(1) (a), (b) and (0 (2) (a), (b) and (d)
(3) (), (©) and (d) 4) (@ (d) and (@)

19. The law of readiness depends upon :
(a) Student Interest
(b) Student Ability
(c) Student Need
(d) Student Maturity
Find the correct combination :
(1) (a) and (b) (2) (a), (b) and (0
(3) (@) () and () (4) (@, () (0) and (d)

20. Attributional theory of achievement behaviour has two stable factors, they are :
(a) Ability
(b)  Effort
(¢) Luck
(d) Task difficulty
Find the correct answer :

(1) (a) and (b) (2) (b) and (d) (3) (d) and (a) (4) (a) and (c)

o-o7s [ IEAIN N

@

Paper-III

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

17.

18.

19.

20.

oars |

(a) IR Tt el # O, i drwerl =t Smqfd

(b) T AT YSTHRI

() TR & |l fewdi @ CO, R safire] #1 amex Fawre

(d) T 9 IRA F ST H

< :

(1) (2) T (b) 2) (2) T () 3 (W (4)

ot areg 1 eifam o frg W AR e 72

(a) =AM

(b) o

() e

(d) fmm

%<

(1) (@), (b) ¥R () 2)  (a), (b) ¥R (d)
(3) (b, () 3R (d) 4) (o), (d) ¥ (a)

‘Teqrar <1 fagr’ At s 2

(a) EIERIE]

(b) B AR

(c) B AR

COEIERIEEESKI

e TASE YgET

(1) (a) 3 (b) 2 (@, (b) 3 ()
(3) (a), (o) 3 (d) 4)  (a), (b), () ¥R (d)

3YAfey SRR & UM fagr # 3 feR wR% §, 3 §

(a) IR

(b) T

() W

(d) F HT e

HE W AT :

(1) (a) 3R (b) (2)  (b) ¥R (d) (3) () ¥R (a) (4)

]
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21. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Basal Metabolic Rate (BMR) is the energy required for essential physiological
functioning after 8 hrs sleep and 12 hrs fasting.

Reason (R) : 150 Ib man has Basal Metabolic Rate 69 calories per hour.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false

(4) (A)is false and (R) is true

22. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The school administration is expected to take proper initiative for health
care management of school children.

Reason (R) : The National Education Policy 1986 recommended to integrate physical
education and sports in learning process of school education.

In the context of the above two statements, which of the following statements is correct ?
(1)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false

(4) (A) is false and (R) is true

Both (A) and (R) are true and (R) is the correct explanation of (A)

23. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Management is the dynamic life giving element in every organization.
Reason (R) : It is the activating force that gets things done through people.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false
(4) (A) is false and (R) is true
o-rss | [{LF L ALAI 1 Papec
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21. = T FF fou MU ¥ uw iR e (A) © TR gHU A (R) | -

APMHIT (A) :  TRIF IUTT=R < (S.UH.3TR.) 8 ¥ & Hig 31k 12 52 & Iya™ & g 1fard
IR faaT gt B STEvEE Selt ¢ |

& (R) : 150 Tesl =afdd § 9fq sier 69 TR Surq=rat < gl ¥ |
STE T wAl & ded § frefafad § @ &9 9 Fod w@ g ?

(1) (A) &R (R) T & € 3R (R) (A) 1 HE =1 2 |

2) (A) 3R (R) A wE& ¥ G (R) (A) FT &t e 72 7

(3) (A)TE T R (R) Tl & 7

4) (A) W&l TEl € 3R (R) W 81

22, 9 < HA feu e uw SifueRe (A) © iR gEI 9ok (R) ©

AURT (A) : Tl TOMEA ¥ T & F=l ] WA=l o faC Tqf=d 98 &I T 3TU&T &1
ST 2 |

& (R) : T fren ifq 1986 7 Tt foen & eAferm wfshen & sRiRe foven IR @a-%g
1 FRfRd O fawfer &7 o |

ITF S wel & Hed § frafafed § 9 wF W % '@ 72
(1) (A) 3R (R) AT &I € 3R (R) (A) T W& =80 T

2) (A) 3R (R) A T fHG (R) (A) T &l == =& 7
(3) (A) W& T R (R) Tl & 7

4) (A)9E T T iR (R) 9 B

23, = T FyA feu MU ¥ U PR e (A) © SR qHU A (R) T ¢
ATHFRIT (A) :  TIT TS B Yo Teh MqHM Seiat acd €
e (R) : 7g Tfehd I &t 9fhan § S AT o HIeAd ¥ Y A ¢
SF S wAl & ded H frefafad § @ &9 o1 Fud w@t 2
(1)  (A) ¥R (R) T & € 3R (R) (A) 1 HE =1 2 |
2) (A) 3R (R) I ¥ fHG (R) (A) FT &I =0 121 7
(3) (A) T ® 3R (R) ¥t T 2|
4) (A) 9@ 7@l T 8iR (R) 9 B

o-o7s [ AL RN "
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24. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Coordination is the ability of the performer to integrate types of movements

into specific patterns.
Reason (R) : Speed and kinesthetic sense are not especially significant in coordination.
In the context of the above two statements, which of the following statements is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false
(4)

4) (A) is false and (R) is true

25. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Motor Fitness is readiness for performance with special regard for big muscle
activity without undue fatigue.

Reason (R) : Motor fitness is gauged by performance and this performance is based on a
composite of speed and agility only.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true and (R) is false

(4) (A)is false and (R) is true

26. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Non-response is the ability to obtain data for all sampled units on all
questions.

Reason (R) : Non-response in surveys is of two types, unit non-response and item

non response.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false
(4) (A)is false and (R) is true
o-s | I 1
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24. =@ wuE @ T E fH @ gom 1 tfueRY (A) iR fgdia = ek (R) Fe1 TR

AR (A) : T franstl & fafim gl =t fafdre ¥ & wifea w1 detft oo =t
AT B |

qeh (R) : Tfa T AT st 1 g | fouiy vea 11 %)
ST SHI HwUAl & ded # frefafed # 9 S 91 woF Wa § ?

(1) (A) 3R (R) S WET &, 3R (A) FT (R) T = 2

(2) (A) 3R (R) T €, 3R (A) FT (R) HE =0 7 ¢

(3) (A) W& g T (R) TTed B

(4) (A) T @ T (R) A T

2

4

25. 9 < %A 3 T ¥ 99 @ wem 1 rfreRer (A) iR fgdta % 9ok (R) FR TR -

Afirerer (A) : TR Tt for ofed ®9 9 o 9t wigufeE & geof favm # e vg
T T |

e (R) : e Tl &1 Foqed & w1ad € 3R 9% Foa1e shae 7ifd 9 Tl & Hale T
arenfid ®

STYF S wHA  He # ffafed § 9 ®F 1 % 9d 7 2
1) (A) &R (R) ST T, 3R (A) FT (R) F&I = T

2) (A) 3R (R) A T &, T (A) FT (R) et =080 T €

(3) (A) W& T TA (R) TG T
)

(4) (A)7TETd © AU (R) eI

26. = T FUA U MU ¥ U PR Y (A) © SR qHU A (R) T -
AR (A) :  TR-ufafsran @t weei & |eft wfaefiia seeal & fau srws yra w3 i Jrar g
T (R) : Telero § TR-Ufafshan < TR &1 Bl ©, SHE IR-Tfkan R 98 R-gfafswan|
STfF S weAl & ded H frefafed § @ &9 @ ua wdt g2
1) (A) &R (R) AT T2 € &R (R) (A) FT & =0EA T |
) (A) 3R (R) A wE& F G (R) (A) FT &l == 72 7
() (A) T T R (R) &t T 7
4) (A) 9@ Tl ¢ 8 (R) 9 B
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27. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Hallow effect produces a good impression about the individuals behaviour.
Reason (R) : Hallow effect is a threat to internal validity.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false

(4) (A)is false and (R) is true

28. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : For predicting the potential of strength ability type of muscle fibre is not the
only reliable measure.

Reason (R) : Muscular strength is proportional to the cross-sectional area of a muscle.
In the context of the above two statements, which of the following statements is correct ?
(1
2

) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false
(4) (A)is false and (R) is true

29. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Athletes having better coordinative abilities tend to learn a moment more
promptly.

Reason (R) : Coordinative abilities are moment specific and hence cannot be improved

through repeating the same moment again and again.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false
(4) (A) is false and (R) is true
o-rss | [{LF L ALAI s —
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27. = 3w feu MU ¥ U e (A) T SR qEU Ak (R) ® ¢
AR (A) 1 TREY J9 SATFRATG ER & IR & T T531 T UeT il 2 |
e (R) : e guTE STTAfie Sear % fag waw €1
STE T wAl & ded H frefafad § @ &9 W1 Fud w@t 7
(1) (A) 3R (R) AT &l € 3R (R) (A) T e =80 T
2) (A) 3R (R) 1 w&t € fhg (R) (A) T T =08 =& 2|
(3) (A) T& ? IR (R) ¥t T 2|
4) (A)¥& T T 3R (R) T 2|

28. 9 < HA feu U € uw SfueRem (A) ® SR THU A&k (R) ©

AMUFRYT (A) :  ToRelt THR &I I AR T HHAAT T [EIHM & o6 TaC TEI 9 TRAs
forvaraa suma &

e (R) : IGUS st HIEusi & gfafiearcas & &1 ST uIfas el |
Sy < el & e # frfafaa # @ &b 1w W@t R 2

(1) (A) 3R (R) AT Tl € 3R (R) (A) T el =80 T

(2) (A) 3 (R) I T T fhg (R) (A) FT T = T 2

3) (A) TE T IR (R) W T 71

4) (A)E& Tl 2 3R (R) WET 2|

29. 9 < %A fau u € uw SifueRem (A) ® R THU A (R) ©

AFURYT (A) :  SBR FH= Al drel THeied fohet o w1 o atfess om=8 <0 @ o wed
gl

T (R) : o= AFar fonen fafiree 2t € o gHifere 3 fodit fohan o aR-aIR <oy ST
T U & ST hal |

STYF M wHA "o # frfafed § 9 ®F W % 9 7 2

(1) (A) 3R (R) AT §&t T 3R (R) (A) FT &t =0=A T

) (A) 3R (R) A wE& F G (R) (A) FT &l == 72 7

() (A) T T R (R) &t T 7

4) (A) 9@ Tl ¢ 8 (R) 9 B
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30. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Oil rich Medium Chain Triglcerider (MCT) should be preferred for cooking
food.

Reason (R) : MCT help to lower HDL-Cholesterol levels in blood without affecting the
LDL-Cholesterol level.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true and (R) is false

(4) (A) is false and (R) is true

31. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : In counter movement jumps from standing position, body stores elastic
energy in eccentrically contracting muscle during lowering phase.

Reason (R) : Counter movement jumps put the body into an advantagious position for
the action phase.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false

(4) (A)is false and (R) is true

32. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The existance of a correlation between two variables can be shown to exist
only when there is variability.

Reason (R) : If one of the variables is a constant, with no variability, then the correlation
coefficient is not even defined.

In the context of the above two statements, which of the following statements is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false

)

(4) (A)is false and (R) is true
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30. = 3 A fou U ¥ ww arfuemeyd (A) ¥ R @U@k (R) T
AR (A) : T H YR Hifeaw =7 TRToEEel (TH.ELE.) &l TH UM o fay wefdeal
AT =R
qeh (R) : TH.91.30. O U, S U, - ool TR I Y9TE STe fo T T | T, 1 e, - hioieia
W A FH @ H TerE ferdt §1
ST SHI wUAl & dey # Fefafad ¥ 9 ®F | Fed wEr § ?
(1) (A) 3R (R) A 72 § &R (R) (A) T T = T
2) (A) 3R (R) 1 9t € fhg (R) (A) T T =080 72 2 |
() (A) T T R (R) &t T 71
4) (A)¥& T T iR (R) TR 2|

31. 9 < weA fou MU ¥ s iR (A) § TR qEU ek (R) | :

AT (A): TS TW & fafd § FRR gade g #, R =0 & IRA iffia w9 9
THae F 9t U H YRR S St shi YUSRUT 3T § |

e (R) : FRR gaHe FT fha-=R0 & faw /R =1 s1ga feufa # @ 2
ST ST el & Heo § frefafed & @ & @ Fum w@ 72

(1) (A) ¥R (R) T & € 3R (R) (A) 1 H& =1 T |

2) (A) 3R (R) 1 T G (R) (A) T &l == 712 7

(3) (A) W& T R (R) Tl & 7

4) (A)¥& Tl ¢ 3R (R) T 2|

)
)

32. = 2w fou MU ¥ U fURY (A) T SR T (R) | :

AMRIT (A) : T IRedl & ot T geday & A & fadh aRedsiad em w— & yeiia
IERIESIRET IR

e (R) : Ifg uftadl ¥ @ e o fordt afteds & feer €, @9 Tedse Toniss &t ot frefua
el foha S weha T

ST ST el & wed § frefafed § 9 &iF 91 wue ud 2
(1) (A) 3R (R) AT &l T 3R (R) (A) T e =080 2

2) (A) 3R (R) 1wt € fhg (R) (A) T T =08 72 2|
(3) (A) W& T R (R) Tl & 7

4) (A)"E T € R (R) T B
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33. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The fluid forces of lift and drag increase with the square of velocity.

Reason (R) : Skilled performers involves appropriate application of rotation to a ball to
create fluid forces.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false

(4) (A)is false and (R) is true

34. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : State anxiety is an immediate emotional experience that is characterised by
apprehension, fear and tension and sometimes accompanied by physiological
arousal.

Reason (R) : This state is experienced because of personality disposition to perceive certain
environmental situations as stressful and to respond to these situations with
increased anxiety.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true and (R) is false

(4) (A)is false and (R) is true

35. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Team cohesion is a dynamic process which is reflected in the tendency for a
group to stick together and remain united to achieve its goal.

Reason (R) : Team performance depends on each member striving to pursue his own
goal to reach the desired outcome of the team.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false
(4) (A)is false and (R) is true
o-ss ||| LA i Paper
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33. 9 < e fou Tu ¥ ww rfireRe (A) ® TR @0 96k (R) ©
AfeRe (A):  foawe 3R 31 1 Tfge ot S % PR @ wed ¢ |

e (R) : FIE fToTE® (WA TEE o 30 W o fau fRet i o (JeeM)
1 3 STTTERT X % |

STE QM1 Al & G § ffafad § § & 9 wYd 9E © 7
(1) (A) ¥R (R) T & € 3R (R) (A) 1 H& = T |
2) (A) 3R (R) 1 w&t € g (R) (A) T T =08 =& 2|
() (A) T T R (R) &t T 71

4) (A)¥& T T iR (R) T 2|

34. 9 2w fou MU ¥ U ifUmY (A) T SR qEU ek (R) | :

AUk (A) :  Toar i fearfa T qenTfare TaATHS ST9a § TSah &1 STish!, 99 3R a9
T qon Fft-Feft su Ty umfas Sue oft gt 7

e (R) : wfara uferefa aRftafal &1 aaeget 7 R 37 aRftafe @ sifye fosn &
1Y e F1 Al TW@IE & FHROT SIS T AT <90 |

ST ST el & Heof § Frefafed & @ & @ Fun w@ 22
(1) (A) ¥R (R) T & € 3R (R) (A) 1 H& =1 T |
2) (A) 3R (R) 1 T G (R) (A) T &l == 712 7
(3) (A) W& T R (R) Tl & 7

4) (A)¥& Tl ¢ 3R (R) T 2|

)
)

35. I 2w fou MU § Uw fUmY (A) T SR T 9k (R) | :

JIMIRIT (A) : T FreIGal Uah Wit Hishan § i forlt T & U T i qgfa 7R 3T @ed i
1 T o FIT The[e @ H Wefid il €|

e (R) : 2\ 1 Ye¥E W & sTUferd uRomg w1 eifed w3 & fau g faare! & o1
8T ] Ik JIE T T e 7

ST ST el & wed § frefafed § 9 &iF 91 wue ud 2
(1) (A) 3R (R) AT &l T 3R (R) (A) T e =080 2

2) (A) 3R (R) 1wt € fhg (R) (A) T T =08 72 2|
(3) (A) W& T R (R) Tl & 7

4) (A)"E T € R (R) T B
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36. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The centers for advanced study in education which functions on an all
India basis and aims at raising standards of teacher education.

Reason (R) : Center built up its programme in co-operation with research workers from
outside.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true and (R) is false

(4) (A) is false and (R) is true

37. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The National Policy on teacher education call for a substantial improvement
in the conditions on the work and quality of teacher education.

Reason (R) : Policy also upholds the improvement in the living and working/service
conditions of teachers.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false

(4) (A)is false and (R) is true

38. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : The angular analogue of Newton’s Third Law states that for every torque
there is an equal and opposite torque.

Reason (R) : The angular acceleration of an object is proportional to the resultant torque,
in the same direction and is inversely proportional to the moment of inertia.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false
(4) (A) is false and (R) is true
o-rss | [{LF L ALAI . Papec

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

36. i <1 Hed fou 7T € ww SifueRe (A) ® 3R THU 9k (R) ©

AURAT (A) : T Hed ®R Teaite Wl T TSy Sl 3ifgd IR TR | w1 w3 § iR
STt e reaTe fo1em o1 T e B

qeh (R) : Yo A aTel SNl o HedN 9 ST Y TR R |
ST SHI HUAl & ded # frefafed 9 S 91 woF Wa § ?

1) (A) 3R (R) A 92 § &R (R) (A) T T =08 T

2) (A) 3R (R) 1 w&t € g (R) (A) T T =08 =& 2|

() (A) T T R (R) &t T 71

4) (A)¥& T T iR (R) T 2|

37. 9 2w fou MU ¥ s iR (A) © TR qEU ek (R) | :

AURYT (A) :  3TeATIe fren 9§ Hafua Ui Aifa o seamaen e &t wrf-<enet a9 o §
TIH R 1 SETIH ¢ |

e (R) : I A B STeaen] & Sed-a19T 3R 3! wd-gened / ar-feurfasli § gum 1
e fopan e}

ST ST el & Heof § frefafed & @ & @1 Fum w@ 22
(1) (A) ¥R (R) T & € 3R (R) (A) 1 H& =1 T |
2) (A) 3R (R) 1 T G (R) (A) T &l == 712 7
(3) (A) W& T R (R) Tl & 7

4) (A)¥& Tl ¢ 3R (R) T 2|

)
)

38. I 2w fou MU ¥ UH fURYT (A) T SR T (R) | :

IURAT (A) : 7 o T F1IH 1 HI0F Joaed Fedl & foh Ik 2 o folu T 9aqed iR
oo <feh g § 1

T (R) : fopet o =1 ShToi oo St o # gftomdt <fd w1 FEuTd e € iR e &
=i ShT SFHATII BT € |

STdEd SHl weel & de # frefafad 8 @ w9 W Fue wE g ?

(1) (A) 3R (R) AT &l T 3R (R) (A) T e =080 2

2) (A) 3R (R) 1wt € fhg (R) (A) T T =08 72 2|

(3) (A) W& T R (R) Tl & 7

4) (A) ¥& T ¢ 3R (R) T 2|
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39. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :
Assertion (A) :

Reason (R) :

Rotation of an object depends upon the balance of torques created by the
forces acting on it.

All the muscles of a particular muscle group sum up together to produce a
joint torque in a particular direction.

In the context of the above two statements, which of the following statements is correct ?

(1
(2
3
(

)
)
)
4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is true and (R) is false

(A) is false and (R) is true

40. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :
Assertion (A) :

Reason (R) :

In ECG, QRS complex represents ventricular depolarization and T wave
represent atrial depolarization.

One should stop exercise if their exercise induced ST segment of ECG is
greater then 2 mm.

In the context of the above two statements, which of the following statements is correct ?

1
2
3
(

)
)
)
4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is true and (R) is false

(A) is false and (R) is true

41. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :
Assertion (A) :

Reason (R) :

Each gram of Hb can transport 1.34 mL of O,, where as 70% of CO, found
in the blood is transported as bicarbonate.

The peripheral chemoreceptors are sensitive to increase in PCO, and decrease
in PO, or pH.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false
(4) (A)is false and (R) is true
o-rss | [{LF L ALAI 2 —
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39. = @ wUA fgu T s ifueRed (A) ® TR U Ak (R)
AR (A) : TRl avg 1 UM 2fh W R R ) 9@l g1 gid 39 Sgerd W AR w2
e (R) : forgr wigaelt g =i weft AieafmEr foaer foen & |y <fd 3 & & fau T
B € |
ST SHI HUAl & ded # Fefafad ¥ 9 wF 9 e war § ?
(1) (A) 3R (R) T FE § 3T (R) (A) 1 H& =A0EAT B
2) (A) 3R (R) A wt € fhg (R) (A) T T =0 72 2
() (A) T T R (R) &t T 7
4) (A) 9@ Tl ¢ &R (R) 9 B

40. = @ FE fou MU ¥ U PURY (A) T TR gHU A (R) | -

IR (A) :  ECG H, QRS HIveigd I IReR SIUerIEsvM 1 Jfafafa &iar § ok T 39
3TefTe Sriergsiy M &1 gfaffie w2

qeh (R) : Ifg foreht =afeq & TaREEs § ECG #1ST 471 2 mm & 31y 31 9ran € a1 38
TERIETES AT 68 Y ST =T8T |

ST S Al & S § frAfafad § ¥ & W weF wd © 2

(1) (A) ¥R (R) T & € 3R (R) (A) 1 HE =1 2 |

2)  (A) 3R (R) IHI T € g (R) (A) T Wt =0 T

3)  (A) W@ ® &R (R) el 7 T

4) (A)9E T T iR (R) 9 B

(
(

41. = T FeF feu U ¥ uw frewmem (A) € IR I A (R) ® ¢

AFURYT (A) :  ¥fa T Hb 1.34 TA.. O, 1 IREET H Hehal § Saifeh & H 9IC S a1 70%
CO, 1 ReET drsshraie & &9 H foha S 2 |

T (R) : AR HMIREed PCO, # gfg &R PO, o pH & g™ % Wfq HagTeid 2 2 |
ST SHI HUAl & ded # Fefafad § 9 wF | S war § ?

(1) (A) 3R (R) T FE § 3T (R) (A) 1 H& =A0EAT B

2) (A) 3R (R) A w&t € fhg (R) (A) T T2 =men 72 2

() (A) T T R (R) &t T 7

(4) (A)EEI Tl T &R (R) 9 R
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42. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Trial and Error method of learning reduces the span of learning.
Reason (R) : Thorndike established the laws of learning.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false

(4) (A)is false and (R) is true

43. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Physical Education is an Eclactive discipline.
Reason (R) : Physical Education barrows principles from other allied fields.

In the context of the above two statements, which of the following statements is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true and (R) is false

(4) (A)is false and (R) is true

44. Find the correct sequence of management of curriculum :

a) Organising
b) Planning

(

(

(c) Controlling
(d) Guiding

(

e) Administrating

Codes :
1) (@), (), (d), (c) (e) ) (b), (@), (), (d), (c)
©G) (@), (d), (b), (0) (a) 4) (@), (b), (d), (e) ()
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42. = < weA feu T ww ifueRed (A) ® SR U A (R) © :
JURIT (A) : T 1 W0 Ugha He &1 7afy i w7 &l ¢
qh (R) : gqHerE® A ST % 1 st few )

ST S Al & G § frAfafad § § & W wed wE © 2
1) (A) 3R (R) A1 9t € 3R (R) (A) Ht 6t == T
(2) (A) 3R (R) 1 F&t € g (R) (A) T T =181 721 2 |
() (A) T T R (R) &t T 7

(4) (A)FE T T IR (R) 9L R

43. = < weA feu T ¥ ww ifueRed (A) ® SR U A (R) ¢
AR (A) . IRe foren ek wmy faen ¥
T (R) : TRIfR fnen o= Geifera & @ fagidl = a1 €1
ST S Al & S § frAfafad § ¥ & W wed wE © 2
(1) (A) R (R) T & € 3R (R) (A) T HE =1 T |

(2) (A) 3R (R) <1 9&t € g (R) (A) T T =181 721 2 |

() (A) T T R (R) 9t T 71

)

4) (A)¥El TE € R (R) We B

44. YT 3R ISTHA F FE& FHH K1 I HY
ESRISE]

D (@, (), (d), (@) (e (2) (b, (@) (e) (), ()
3) (e (d) () () (a) 4) (@) (b), (d) (&) ()

o-o7s [ HNE
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45. Find the correct sequence of cognitive process :
(a) Sensation
(b) Thinking
(c) Perception
(d) Problem solving

Codes :

46. Find the correct sequence of mechanism of musclular contraction :
(a) Myosin head forms a cross-bridge with actin
(b) Cross-bridge detach
(c) Ca** binds to troponin
(d) Myosin head bends and ADP and phosphate released

(e)  ATP hydrolyzes to ADP and phosphate, Myosin to the cocked position

Codes :
1) (@), (b), (c), (d), (e) (2)  (0), (a), (d), (b), (e)
(3)  (0), (d), (a), (e), (b) 4)  (a), (), (d), (b), (e)

47. Which of the following sequence is correct during isovolumetric relaxation ?
(a) Ventricles relax
(b) Ventricular pressure drops
(c) Atria rafills
(d) Semilunar valves close

Codes :

2) (), (©) (A, @ @) (9 @) @ (k) @) (d) @) ®)«C

), (¢), (d)
AT :

r(b/

1) ()
o1 [[

[=))
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45. TIETHE UTHAT T |E&r HH Il AR :

(a) oTIYfd
b) fa=m

M @ © k), 2 © @)@ @) (@)@ @b @ © O @@

46. Trefafed § @ Aladeia GF=a & @& F7 & 1 ¢

a) TRIEA-8E TR & WY T HrEa-fos o 2

b) wE-fos fed= & s 2

) ET I Y s €

(d) ARG ¥ gea1 € ok TEL. IR wehe Sied 7

() TIAW w1 TIW. Ud Wk H T STIERA Tl § a4 T SR 33 S ¥ |

)
)

_~ o~ o~

e :
1) (@), (b), (c), (d), (e) 2) (o) (a), (d), (b), (e)
B) (0 (d), (@), (e), (b) 4) (@), (c), (d), (b), (e)

47. = T 7T F F ITAN FIA L W&l F FIT HIWC
sgErETegHfeh RerieH & SNH

(a) dfeforca fofaa & wma €

(b)  SfeReR TamE w1 2 S R
() fean fthew

(d) IR diesd o< & 9 £ |
FE

1 @

o-ars

<)

d) 2 (b)) @ @ @) (© (@ b @ (@ @) ®)/(©

/ (
[ z

(b

) (
I

N
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48. The correct sequence of gait cycle in running :

(a) Double swing

(b) Foot descend

(c) Take off

(d) Forward swing

(e) Foot strike

(f) Mid support

Codes

1) (©) (d), () (a) (b) (¢) 2) (@), (), () (d), (@) (b)
(3) () (b) (9) (@) (d) () 4)  (© (@), () (e), () (e

49. Find the correct codes in sequential order of a good lesson plan :

b

a) Objectives
) Teacher’s Activities

(
(
(c) Learning Experiences
(d) Teaching aids

(

e) Appraisal

Codes :
1) (b), (@), (d), (), (0) 2)  (a), (d), (b), (c), (e)
(3)  (0), (b), (@), (e), (d) 4)  (a), (b), (c), (d), (e)

50. Arrange leadership theories as they were propagated in chronological order :

(a) Fielder’s contingency model

(b) The multidimensional model

(c)  The life cycle theory

(d) Tannenbaum and Schmidt’s model

Codes

1) @), () (b) (d) 2)  (d), (@) (0) (b)

©®)  (©, (@), (b), () @) (b, (d) (@) ()
o-rs [ ARCANN 2
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48. <ie H 1T HEfRA T W FUT
(a) oo f&am
b) e fede
(c) <F IA®
(d) wReEE fem
e) P EEF
f)y foewde

49. TH 95 TS ASHI ! FHIA FHATIHR TG U Fal Fe T Fa7 Y

50. A9 o fAG i 3T IfAIEA & HITHATTHR HarEd Hifag :

(a) TRITSY T HIAN (FH=l~idl) HAied
(b)

FEIET Aled

(c) ited =ik Togld
(d) delEmm IR forgew Aftea

< :
1) (@), (©), (b), (d) 2)  (d), @), (), (b)
©3)  (© (d) (b), (a) @) (b), (d), (@) ()
pars || i 2
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51. Physiologically, whether a stressor is perceived as positive or negative the body responds
with three stage process.

Find the correct sequence given below :

(a) Alarm, Anxiety, Resistance

(b) Alarm, Resistance, Exhaustion

() Alarm, Anxiety, Exhaustion

(d) Anxiety, Resistance, Exhaustion

Codes :

1) () 2 (b () (© 4 @

52. Arrange the following factors that determine flight distance in the long jump in descending
order :

(a) Air Resistance
(b) Take-off Velocity
(c) Take-off Height
(d) Take-off Angle

Codes :
(1) (d), (@), (b), () (2)  (d), (b), (¢), (a)
@) (b), (@), (c), (d) 4)  (b), (d), (¢), (a)

53. Technique training involves the following steps.
Find the correct sequence given below :

a) Demonstration

(
(b) Lead-up game
(c) Practice

(

d) Explanation

Codes :
1) (d), (¢) (a), (b) 2) (@), (c) (d), (b)
©G) (@), (d) (), (b) 4)  (d), (@), (b), (c)
o-rss | [{LF L ALAI . Papeci
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51. YRR faam 1 gfie @ TRR I =01 gfshan & e sTafehan ial § 9919 Scae A ATl ol HehRIcHS

T ThRTcHh HIAT STl %I

1= feu @ w4 1 g

(a) Hoa®k,  fu=, gfay
(b) s,  gfRY,  g@H

(c) Wuas,  fa=m, JHT
(d) fe=, EICRCA Gt |
e :

1 (a) (2) (b) ®) (© 4) (4

52. N % H g g H1 MUR0 A At fefafad sRet w5 1wy ¥ gersd
(a) e 1 Gfaly
(b) < AR AT
(©) % ATH o
(d) <F AE HO
ETE

)
1) (d), @) () (©) (2)  (d), (b) (c) (@)
)

53. ke gfvern # frfafaa =R g )
= <t ¢ feafadi %1 W& %9 Faq
(a) TSEH Heh fe@m
(b) <ite-379 @d
() g
(d) TILTHI
He :
1) (d) (o) (a), (b) 2) (@), (o) (d), (b)
3) (@, (d), (), (b) 4)  (d), @), (b), (c)

o-o7s [ AL RN s
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54. In terms of the percentage of common variance shared by the two variables, arrange the
following co-relations in descending order :

(@) 0.60

(b) —0.50

() —=0.70

(d) 0.40

Codes :

1) (@), (d), (), (b) ) (a), (d), (b), (c)
©G)  (© (a), (b), (d) 4) (@), () (d), (b)

55. Find the correct sequence given below in planning of a test :

(a) Consider the form of a test

(b)  Select the contents of the test

(c) Plan the scoring of a test

(d) Identify the test specification

(e)  Write the test items

(f) Identifying the purpose of the test

Codes :

1) @, b) @, @) © @ ), @ @, @), ©) @
®3) @, (©) (@), ®) @) 6 ) (©) (&) (@), (d) (b), ()

56. In Scott Motor ability test, find the correct sequence of the following items :

(a) Basketball throw for distance
(b) Wall Pass
() Broad Jump
(d) Obstacle Race
() Dash
Codes :
1) (@ © @, ®) @ @ (@ ©) @), @), ©b)
3) (@ @ ©), (), (b @ (@ @ @), b) @
o-o7s [ IFAIN N 2 paper-n
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54. = H U@ W delt 9M e & gfae &1 gfie |, fefataa ae-del @ el w9 °
ford
(a) 0.60
(b) —0.50
() —0.70
(d) 0.40
%<
1) (a), (d), (c), (b) 2)  (a), (d), (b), (c)
@) (o), (@), (b), (d) “4)

55. T3 § ¥ fordt gd&qor skt ST 1 @& 9 9qmU
(a) T & T W =R

)
(b) wRieror S fomEEsg w1 =
(c) TE H ShIT w\
)
)

d) " fafey &t gg=m

() Tdierw wal I fere

() & & KT HT TEAH

e :

1) @, (d), ®) @) (), (© 2) (), (d), (), (@), (0), (a)
3) (@), () (e) (b), (d), (f) 4) (o) (e) (@), (d), (b), (f)

56. hIS T JIA YT & AfafEd Aei 1 et sy Jdisd :

(a) SR g8 % ford ek
(b) oA U
(c) dmTESH
(d) =
() SW
%<
1) (d), (o), (a), (b), (e) (2)  (d), (o), (a), (e), (b)
3)  (d) (@) (c) (e), (b) (4)  (d), @), (c), (b), (e)
o-ns [[{EFHINHNL y
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57. In North Carolina Fitness Test, find the correct sequence of the items :
(a) Situps
(b) Pull ups
(c) Standing Broad Jump
(d) Squat Thrust
(e) Side Stepping

Codes :
1) (@), (b), (c), (d), (e) (2)  (a), (&) () (b), (d)
(3) (@), (e), (b), (c), (d) 4) () (e), (d), (o) (b)

58. Find the correct sequence of I¢t, TI"d, I1I"d and TV position winners of London Olympic 2012
in Tennis (Singles Women) :

(a) Maria Kirilenko
(b)

(c) Victoria Azarenka

Serena Williams

(d) Maria Sharapova

Codes :
1) (), (d), (a), () 2)  (d), (@), (c), (d)
@) (b), (d), (), (a) (4) (d), (b), (a) ()

59. Match the terms of List-I with that of List-II and select the correct option using the codes
given below :

List - I List - II
(a) Extracellular water i 56.7%
(b) Intracellular water (i) 19.2%
(c) Fat (i) 15.1%
(d) Protein (iv) 22.2%
(v) 43.3%
Codes :
(@ (b) (o) (d)
O v O @
@ O & )
G & O ) 0
@ O ) Gv)
o7 [ HIVAANINN] ’ paper-n
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57. ek ST el 9O | Al o Wal HH 1 Id1 A

(a) fog-er
(b) qA-TH
() T aTe 5
(d) ¥Eoe 9=
(e) rEE T
%<
1) (@), (®), (©), (d), (e) 2) (@), (e) (o) (b), (d
3) (@) (e), (b), (o), (d 4) (@) (e) (d), (o), (b
58. <8 (Twa wfean) H wed sfiaftas 2012 & 98d, T, TEX AR =S T & fosiarst 1 @& %9
YEAIT
(a) IR Hiker=hl
(b) & faferaes
(c) foeifean st
(d) IR IR
e :
1) (b), (d), (@), (c) 2)  (b), (@), (0), (d)
3)  (b), (d), (0) (a) 4) (d), (b), (@) (c)
59. HEAI-1 ! Gei-11 9 gafaa S ok = fou 7T Fe 9 ¥ s g0
Tt - 1 Tt - 11
(a) STRIHITIRT STt Q)  56.7%
(b) STd:HITR A i) 19.2%
(c) = (iii) 15.1%
(d) URH (iv) 22.2%
(v) 43.3%
e :
@@ () (o) (d)
1 v @) G ()
2 O ( @Gv) (3
G) ) @) @Gv) ()
@) @@ ( (v) (i)
o-ns [ HRUAVANIN 5
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60. Match the terms of List-I with that of List-II and select the correct option using the codes

given below :
List - I

(a) Critical Philosophy (i)
(b) Rationalism (ii)
(c) Empiricism (iii)
(d) Analytic Philosophy (iv)
Codes :

(@ (b) (o) (d)
W (v) (@) @
@ ) (v 0 G
@) v O G G
@ @ O () (@

List - II
Russell
Locke
Spinoza
Kant

61. Match the terms of List - I with that of List - IT and select the correct option using the codes

given below :

List - I
(a) Beta - 2 agonists (i)
(b)  Yohimbe (ii)
(c) Beta - Alanine (iii)
(d) Folic acid (iv)

(V)

Codes :

@ () (o (d)
O @O @ ) )
(2) @) (@v) (v) @)
@) @ @ @GP (i)
(4)  (v) (D) (@3 (v)

List - IT

Increase Arobic Capacity
Increase Testosterone level
Reduces symptoms of asthma
Vascodilator

Non-essential amino acid

62. Match the terms of List-I with that of List-II and select the correct option using the codes

given below :

List - I
(a) Boron (i)
(b) Ribose (ii)
(c) Ephedrine HCl (iii)
(d) Phosphatidylserine (iv)

v)

Codes :

(@ (b) (o) (d)
®» @ @ @) (v
2 v @ @) ()
() @) (@) @) ()
4 @) (v) @) (v)

o-ms [ AT

WWW a?27Subiects com

List - IT

Increase Cellular ATP

Increase Heart Rate and Blood Pressure
Lowering cortisol level

Spare muscle glycogen

Increase testosterone level
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60. gEIl-1 %! Fei-11 ¥ gafeaa wifae IR F= fu U Fe 3 9@ 3| MU :

et -1
(a)
(b) T Ifgar
(c

)31_:[‘34331?{

d) foectoumeTes <3
%< :
@@ (b) () (d)
(1) (v) (D) @) ()
(2) (D) (v) (@) (i)
(3) (v) (1) (D) (i)
@) @@ @ @) (

i)

(
(i
(
(

iii)
iv) <h1oe

a\iﬁ-n

ISEISl

61. Te- 1 A3 o1 Geil- 1 7a1 9 e #ifee oiX = fu Tu e o1 ST & g 9@t ST &

IIq Eﬁﬁﬂl :
A -1
(a) el - 2 Ty
(b) fewsit
C) - TerTEA
(d) iferR TfEe

< :
@ () (o ()

@ @) @) (V)

) (
(2) (D) (v) (v) ()
() @) @ @) (@)
@) Gv) (@) @) (V)

T - 11

T &9 Jed € |
SRR T 9E[ § |

YT & ALTVI Rl FH HIAT |
ITERITSTY

FAETH Tl TS

62. GeIl-1 %! Geil-11 § Afera wifeg 3R = feu 7T Fe 9 98 S M

Tl - 1
(a) @RM
b) AN
c) THIGET TIHTA
d) TIERfCSEETEA

(
(
(

(@) (b) () (d)

L @ @) 3D (V)
(2) (v) () () (i)
; (i) (111) (i) (1V)

(iii) (ii)

oo AT

WWW a?27Subiects com

T - 11
JeTer AN, 1 g §
TG Te T <9 H TG &
HifeHA T H HH HL &
sTfafe e TegehieA

TERIERA & R H! TGN §
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63. Match the terms of List-I with that of List-II and select the correct option using the codes

given below :
List - I

(a) Group polarization

(b) Social facilitation

() Group think

(d) Social loafing

Codes :

(@ (b) (o) (d)
® @ @ 3§ (i)
(2) @@ (@) @) @
®) @) @) @ ()
@) (@Gv) (@) @G (i)

List - 11

(i) Group dynamics that can interfere with group
decision making process and can be disastrous.

(i) Slacking off when in a group due to unaccountability.

(iii) Group interaction but without changing mind,
keeping original ideas and strengthening them.

(iv) Presence of others to either enhance or impair
performance.

64. Match the terms List-I with that of List-II and select the correct options using the codes

given below :
List - I

(a) Government Agency
(b) Voluantary Agency

(c) Private Agency

(d) Commercial Agency

Codes :

@@ (b) (9 (d)
L @ @ Gv) (i)
2 @ @ 3§D (i)
G) @) (@) @) @
4) @

oars ]

(i) (i

i
HIUITN

(iif)

v)
JACARA

WWW a?27Subiects com

List - II

(i)  The cost of financing and facilities and programmes
is largely met through contributions.

(i) The provisions and materials and advisory services
for the benefit of local individuals and organisation.

(iii) The Active and Passive recreation provided through
Amusements.

(iv) Open to the families of workers and their
Communities and Employees.
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63. gEIl-1 %! Geil-11 § afera it 3R = fSu 7T %e 9 9dt S g

et -1 et - 11
(a) T YR (i) T skl S G & o o 6t gk § e #R
Tohdl T IR ot 81 Heha € |
(b) WIS HIEATHRI (i) HE H STREIIE &l B o HNU Sredl T |
(c) wHREH (il) HHE Tl fohg A9 et forT, 7o foam =l oATT Y@
3R 3 3§ HLATI
(d) G STERTTRT (iv) @ FToIed &1 M o fag a1 anfyd & & fag gl
i Iufeefd |
e :
(@ () (9 (d)
1 @ @) () ()
(2) @) @) (@v) @)
@) () @Gv) @) (i)
4) (@v) (1) @) (i)

64. El-1 %! Gei-11 ¥ gafaa &t o T fu U Fe 9 w&@ | g

et -1 et - 11

(a) EEHN T (i) EEAN < HIEEH | wRH w1 AT €9 < R gl
7 I AN I AUH T Y T A @

(b) Wifess o (i) T AfeEl IR Gen & @9 & fau yedE, qmi
AR TSt Ha |

() =i Toht (iii) T SEAE % WA § "ikd iR ffeRa 7R |

(d) EEITS Tt (iv) ol % IRER IR 7 aqeEl ud el & fag
Tl

(@ (b) (o) (d)
) @) @) (@v) (i)
) (@) () () ()
) @) () (@v) ()
) (v) () (@) (i)

o-o7s [ HNNEN
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65. Match the terms of List-I with that of List-II and select the correct option using the codes
given below :

List -1 List - IT

(a) Teaching skill (i) A technique which makes learning effective and
simplified by adopting learning by past.
(b) Programmed learning (i) Systematic and coordinated pattern of teaching

physical activity to facilitate learning.

(c) Teaching model (iii) A system of teaching process which involves defining
the objective selecting and arranging activity.

(d) Lesson planning (iv) A pattern of planning to select the instructional
material on the basis of curriculum to enable teacher
to decide teaching strategy.

Codes :

(@ (b) (o) (d)
1) () @) G )
2 @ (v) (@) ()
G) @ @ @v) ()
4) @) @@ @) @)

66. Match the terms of List-I with that of List-II and select the correct option using the codes
given below :

List - 1 List - II
(a) Physical Hazard (i) Ingestion
(b)  Psycho-Social Hazard (i) Animal Product
(¢) Chemical Hazard (iii) Ultraviolet Radiation
(d) Biological Hazard (iv) Tardiness
Codes :
(@ (b) (o) (d)
M @O G G ()
() @) @D @) @)
®) @) (@) @O 3
) () (@) @) (i)

v) (D)
U

(4
pars |
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65. geil-1 %! geil-11 § afera Hifse 3R = fSu TU %e 9 9dt s g

et - 1 et - 11

(a) Toao s () I8 o fero 1 7o g fegor st gt SR e I
HI Th dhAlh

(b) giESa siferm (i) Toeror =1 gErem a9 o fau e foren fason =t
Hafeed R THf<=d ggid

(c) Toreror grey (iii) Toreror wfshen =01 T Tsfa Fas aegaees, =97 SR yae
1 T HLA WA ©

(d) T AN (iv) Treror oHiTa w1 fofa o o fog frers =1 w9 a9 €
ISTshH o STER T STICINCHS AT 1 997 & &
T I 5t T gsd

e :

@@ (b) (9 (d)
1) (@v) (D) G @)
(2) @) (v) (@) (i
G) @ @ @v) ()
@) (@) G @) )

~"

66. G-I ! Feit-11 9 Fafaa Hifae ok = fou U Fe 9 98 s g :

el - 1 T - 11
(a) TRE T (i) TR
(b) HHTHFH-FHISH G (i) U SR
(c) THM® Tl (ili) TS fafezo
d) SfawE aa (iv) omER
e :
(@ () (9 (d)
@ @ @) 3§D ()
(2) G (@) @v) ()
®) (m) (w) (i) (i)
(4) (i) (i)
D713 HIH\IHII\ ll i
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67. Match the terms of List-I with that of List-II and select the correct option using the codes

given below :
List - I
a) DPractice against time
)  Practice in front of mirror
c) Practice with opposite foot

d) Dribbling with closed eyes

Codes :

@@ () (o (d)
1) @) @) @ 3
2 @ @ @) (@)
G) @v) (v) (@) (i)
4) @) @) (@Gv) ()

(i)
(i)
(iv)

List - II

Balance ability
Reaction ability
Adaptation ability
Coupling ability

Differentiation ability

68. Match the terms of List-I with that of List-II and select the correct option using the codes

given below :

List - I

( Diabetes

( Atherosclerosis

() Nephrotic Syndrome
(d) Cirrhosis

Codes :

@ () (o9 (d)
) (v) () @3 (V)
@ @) v O @
) () @) (v) @)
)

4) (i) (i

)
o-rs [ LI

(v) ()

iv)
i
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(i)
(iif)
(iv)

List -

II

Heart burn

Proteinuria

Hypercholesterolemia

Glycosuria

Ascites
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67. GEl-1 %! Gei-11 ¥ gafeaa wifae R F= fu e Fe 3 9@ | T :
g -1 Tl - 10

(a) I % foeg s1vam® (i) Eqe A
(b) <Y THEY A (i)  wfafsran e
(c) 3O TE 9 AR (ili)  STIREA AR
(d) < sl @ fefoct (iv) FT A
(v) fadgs dwe

%<

@@ () (9 (d)
1 @) Gv) @ (i)
@ @O @) @) (@Gv)
@) (v) (v) (i) (i)
4) @) () (@) (v)

68. -1 ! Gel-11 ¥ GAfad wifsrg IR T fIu TC %e ¥ 9@ S| I

A -1 T - 11
(a) HAYHT () HRH S
(b) TEREREH (i) SRR
() Twifeswk fagm (ili)  BTEULRICTEZ AT
d) fadfgw (iv) TeTERIRAT
(v) THIH
%

@@ (b) (9 (d)
1) (v) @) @)
2 @) v O @
®3) (111) (i) (V) (
4)

111

(

Dars IIH\INH
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69. Match the terms of List-I with that of List-II and select the correct option using the codes
given below :

List - I List - II
(a) Face validity (i) Based upon correlation with a criterion variable
(b) Item validity (i) Expressed numerically
(c) Statistical validity (iii) Refers to acceptability of a test
(d) Concurrent validity (iv) Discriminative value of an item
Codes :

@@ (b) (9 (d)
(1) @) Gv) @ ()
(2) @) (@v) @) ()
() ) @ (@) ()
@) @) (@Gv) G @)

70. Match the terms of List-I with that of List-II and select the correct option using the codes
given below :

List -1 List - IT
(a) Intramural (i)  Visitation
(b)  Finance (i) Competition
(c) Supervision (iii) Reappropriation
(d) Infrastructure (iv) Layout
Codes :
@ ®) (© @
M G @ @ 0
@ @) @) @ @)
@) Gv) @ @) )
@ O G @ G
o-7ss [N AN "

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

69. -1 ! Feit-11 ¥ Fafera i a0 A= o T Fe 9 9 S| A3
it -1
sifeRa S

(a)
(b)
(©)

(d)

e :

1)
(2)
)
4)

e Jeuar
WA i
T ST

(a)
(i)

b © @
v)
v)
)

i
i v) (ii)
iv)

(
(i
(
( )@

@)
(1) (i)
(i
(i

T - 11
(i) HER T F Y FeHdY T YA |
(ii) SRR Afyefad |
(iii) =T ST TETOT T TR 9 B
(iv) foret we =1 fasiees qou |

70. G-I 1 Ge-11 § GAfad Hife i) 9 e U Fe ¥ & 3| M

)
)
3)
)

oa7s |

T - 1

sii

foa

EREEL

TG

@ () (9 (d)
(i) @) (@v) (0)
() Gi) (1) (iv)
(v) () (i) (i)
@ (v) () (i)
DAL
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A Sport Psychologist developed a new sports Anxiety Inventory of items. The cronbach
alpha for the inventory was found to be 0.80. The inventory was administered to a group of
50 anxiety disorders sports persons before beginning their psychotherapy. These sports
persons had a significantly higher mean than the normative group of normals. The same
group of sports persons was retested after 12 weeks of psychotherapy. The post-test mean
was significantly lesser than the pre-test mean. The new sports Anxiety Inventory was
correlated with an established sports Anxiety Inventory and the correlation turned out to be
0.20. The norms of the inventory were developed in terms of normalized T-scores.

71. The above data indicates that new inventory had :
(1) Satisfactory concurrent validity
(2)  Unsatisfactory concurrent validity
(3) Satisfactory parallel form reliability
(4) Unsatisfactory parallel form reliability
72.  What would be the median T-score for the new Anxiety Inventory ?
(1) Inadequate data on median T-score
(2) 25
(3) 80
4) 50
73. Which statement is true about the para ?
(1) Psychotherapy has no significant effect on the anxiety level of sports persons.
(2) Psychotherapy has significant positive effect on the anxiety level of sports persons
(3) Psychotherapy has significant negative effect on the anxiety level of sports persons
(4) None of the above is correct
74. The above data indicate that new inventory has :
(1) Unsatisfactory construct validity
(2)  Unsatisfactory test-retest reliability
(38) Satisfactory construct validity
(4) Satisfactory test-retest reliability
75. What can you infer about the internal consistency reliability of the new inventory ?
(1) Unsatisfactory internal consistency reliability.
(2)  Split - half reliability needs to be computed first to infer about internal consistency.
(3) Satisfactory internal consistency reliability.
(4) Inadequate data in the above passage to infer about internal consistency.
-00o0-
o-ams [N s papeca
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T GA-%He TAHI o TRl 1 78 @l fo=n gt TaR &1 | Gt & fau g e 7w &
0.80 BT 9T T | I =t o fosh At 50 farenfedl o T 99 &l 37! Aafvafaa I& &
q gt < T2 | 37 Taentedl w1 e = faenfedl & 7 i §HE i o | RIw! SAfHw o1l 12
g ! A ohed & qeard faenfeal o 3Ht ¥9g &1 g7 whem fean w1 wieo-uven q1ea
TH&IU-Y AL i Jo1 H Il HH o1 | T @l o = T geenfud e foxa 9= § gguwrg
o 3R 9% FEEErY 0.20 o1 | Gl o A SH=ITHd I-WhE ' @ gie § foemfad fee e o)

71. 3TIF Tishel < ¢ fo 78 g

(1) Fdeue e dear of |
(2) STHAYYS FEE Serar off |
(3) Hdmue forvaderdn s GHHR 9 o |
(4) THAYS favad=adl sl HHMRR &9 o1 |

72. % o =t o forg mferen ‘A-wR @ g ?
(1) TfeeRt S-WR Gadt oToaTa aTiehe
2) 25
(3) 80
4) 50

73. IUIE W F FAY § HIA-T g & € ?
(1) foofedt w1 fom TR R FAREfRE & E Te@ul I9& T8 ¢ |
2) foonfeai #t fomn TR W AR H1 el SRS J9Td IS § |
(3) facnfedt &t fam TR W AAfEfHa w1 Aeaqul THReTS F9E g |

(4) WY 9 g off 9t TR

74. SUYF HAlhe IT T ¢ b T =
(1) THAYYE FATEe Jea B |
(2) AHAEYR TEU-YA: qerT faveda 7|
(3) HAEYS SEE AU T |
(4) HdmuE T Wi favesHtad 71

75. 3T T8 FA T TR FAqd faRaa=1al % IR § =1 STFAN e Heahd & ?
(1) STEAYS Aaeh Faqa favaeHr |
(2) STARe Faqd o 9N § FIAN O o fag A€ fawifsa foges=iaar & TEr 1 STeeashal
& B ¢ |
(3) Hdwyg AR Fadqa fargeraHtedi|

4)  SARE FAE % IR H TN TMH & fow Iufa 118 # T fiehe ¢ |

-00o0-
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